SM3H 9.2 odd answers

1.
t X y
0 1 -2
1 5 -1
1.5 7 -0.5
3 13 1
3.
t X y
1 1 2
2.5 6.25 6.5
V5 5 3v5-1
4 16 11
5 25 14
y
oA
5.
BRb~ o AR ARRY
< i T'L > X
Yy
o
7.
= £
N 5
NN
]
<t > X
3

11.

13.

15.
17.
19.
21.
23.
25.
27.
29.
31.
33.

35.

1 A
'\\ﬁ"-
SRR
< + + + = X
-1 | 5 3 1
ok
v
y
o
5
< > X
v
y
o
\
T.
W
\
iy = W i ana
*U“'-ﬂ i amma Y
o
quadaratic

square root

cubic
Linear,y = —x — 2
Quadaratic, y = x% — 3
circle, x? + y2 = 25
Square root, y = Vx — 9
57°,y = 359 ft,x = 55.4 ft

x2+y?=2y

x =-8,6

5 lim f(x) = — lim f(x) = o
X——oo xX—>00



